Higher order ODEs Matrix exponential tells us how to sole linear Systems Y' = AY A nxn matrix.

 $y' + a_i(t)y + \dots + a_{n-i}(t)y = 0$ homogeneous of order linear ODE. Chat techniques can use use to some there how does the theory work? Any ODE can torn into a linear system as follows:

 $\begin{aligned}
\chi_{1}' &= \chi_{2} \\
\chi_{1}' &= \chi_{3} \\
\vdots \\
\chi_{n}' &= 2 \alpha_{1} \chi_{n} \cdots \\
- \alpha_{n} \chi_{1}'
\end{aligned}$ $\chi_{i} = v_{j}$ $X_{7} = g'$ $\chi_n = Q$

Ex for a 3rd order ODE:

 $y''' + a_1 y'' + a_2 y' + a_3 y = 0$

 $\begin{cases} y' = \sqrt{2} \\ \sqrt{2} = \omega \\ \sqrt{2} = -\alpha_1 \omega = \alpha_2 \sqrt{2} - \alpha_3 \gamma \\ \omega' = -\alpha_1 \omega = \alpha_2 \sqrt{2} - \alpha_3 \gamma \end{cases}$

result of this, all Asc the theory of Systems

Carries aver to gue us the things we want. · Existence and Uniqueness thm · lineur combinations of Sol's are Shill Solas · Degree a ODE has a fundamental Solutions that make of the general solution.

Can always use the matrix exponential techniques from yesheday to solve the System. However, this is cumbersome

esp. if the degree of ODE is big- Well talk about how to use the general theory to avoid doing this. We'll assure that $y^{(n)} + a_i y^{(n-1)} + a_n y = 0$

Correspond to the System Y' = AY. Sol's to this System are vectors that look like y(1) So we really y(1) So we really only creationt

first component.

The Wronskian: is gui--, yn are Solutions to the ODE, we define the Wronskiin of them by $W = det \begin{pmatrix} y_1 & \dots & y_n \\ y_i & \dots & y_n \\ \vdots & \vdots & \vdots \\ y_i & \dots & y_n \\ y_i & \dots & y_n \\ \end{pmatrix}$ Like before, $y_{11} - y_{11}$ are linearly independent solv $\Longrightarrow W \neq 0$. In System land, Xi = (Yi Yi' Yi') Checking if yur, yn are lii. is equivalent to checking if

Y. -, Y. are l.i. solv to Y=AY.

From lincor algebra, this happens iff det $\begin{bmatrix} 1 \\ 1 \\ - \end{bmatrix} \neq 0$. This is just the Wronskinin!

Constant Coeff. ODEs

y(n) + a, y - + any = 0 a; are constants.

Like betoe, don't have general techniques to solve non-constant Coeff. equations very easily.

Recall that solo to the corresponding Y'= AY can be System found by Sinding Solution coming ergenvectors of A. tion generalized Vi generalized eigennerbur for t $Y_i(t) = e e \vee i$ of degree P $Y_{i}(t) = e^{\lambda t} \left(Ir \left(A - \lambda I \right) f - \frac{1}{(p-r)!} E^{p-r} (A - \lambda I)^{p-r} \right) V_{i}$ Constructing enough of them Sd"s lets us get the general SJ?

We can define the characteristic polynomial of the ODE by $\lambda^n + \alpha, \lambda^{n-1}, \dots + \alpha_n$ this turns out to be the same as char poly. of the Systems let's say that V is an eigenvector for λ . Then we get a sol' that $\lambda = 0$ looks like Y(+) = ev So we get a corresponding 521 $y(t) = e^{\lambda t}$ to the ODE. When λ is a sepecited root, the

Sits coming from generalized ergenvectors in first component look like $e^{At} p(f)$ for size $p(f) \circ f$ degree $\leq p^{-1}$.

So we are led to believe that if A is a repeated root of mult. P. that we get solars that look like:

ent tent tent tent te

Can use linear algebra to shaw there are indeed solutions, So that a general solution looks

like a linear combination of flue.

 $E_{X:}$ y' = 2y' + 2y' = y = 0Charachrishi polynomial: $\lambda^4 - 2\lambda^3 + 2\lambda - 1$ $(\lambda - 1)^{3}(\lambda + 1).$ (00ts: -1, +1 of mult 3. 501 54 get findamental $y_4(t) = t^2 e^t$ $y_{l}(r) = e^{-t}$

 $y_2(t) = e^t$

 $y_3(t) = te^t$

general Sol^M: ce rCzercstercyte Complex roots have the Same Story. If X Complex voot of char. poly. of mult. 9 this et tet, t q-1 th and e te, --, te are all solution to the ODE

taking real/imaginary parts, ve produce the Solutions

e cos(pt), te cos(pt),..., te cos(pt)

est sin (pt), --, t q-1 xt sin (pt)

X= X+ip

 $E_{X:}$ y' + 4y'' + 14y' + 20y' + 25y = 0Chur Poly: $\chi_{+}^{4} + \chi_{+}^{3} + 14\chi_{+}^{2} + 20\chi_{-}^{2} - 2\chi_{-}^{3}$

 $\left(\lambda^{2}+Z\lambda+\varsigma\right)$

roots: -1±2: mult. 2

 $Y_{1}(t) = e^{t} cos(2t)$ yzlt = e Sin(2t($y_3(t) = t e^{-t} cos(2t)$ gylt) - tetsin(zt) general Sol": $C_{1}Y_{1} + C_{2}Y_{2} + C_{3}Y_{3} - C_{4}Y_{4}$

10 min break

Jystem) Inhomogeneaus A = A(t)X' = AX CF

F = F(t)

How do we Some Such Systems? Very Similar to what we Lid before. Thom: Y_h to Y' = AYand Yp is a garheuler Sstr, than the general S_{1} to Y' = AY + F is

Yn+Yp. Proof il Same as before. Def. $Y_{1,-}, Y_n$ a fundamental S_0^n set to Y' = AY then the fundamental matrix is matrix whore columns are the vector YI, - Yr. Variation of Perameter

Look for Ypot the form Mg(t) V(t) for some Euchon V(t). $\begin{pmatrix} I & I \\ Y_{1} & \cdots & Y_{n} \end{pmatrix} \begin{pmatrix} V_{i} \\ \vdots \\ V_{n} \end{pmatrix}$ $Y_{p}(t) = Y_{1}(t)Y_{1}(t) + \cdots + Y_{n}(t)Y_{n}(t).$ So we're hunting for functions VILMIN VULM So Munt Yp is a non-constant linear

Combin action of findamental Soluhoñs.

What we reed:

Let's see $Y_p = AY_p + F.$ what that means here,

 $Y_p = Y_f V S_{2}$ $Y_p' = (Y_p V)' = Y_p V' + Y_p' V$

 $Y_{f} v' + Y_{f} v = A Y_{f} v + F$ Note: Alf = Ye'. Why?



 $Y_p = Y_f \cdot V = Y_f \cdot \int Y_f \cdot F d f$

Example Find a particular Sola to Y'= (12) yt (0)

First, Solve Y' = (21)Y' to get fundamental matrix.

 $PA(x) = x^2 - 2x - 3$ $= (\chi_{+1})(\chi_{-3})$

$\lambda = -1, 3$	ergenvectors
-------------------	--------------

11

 $\mathcal{N}_{l} \geq \begin{pmatrix} 1 \\ -1 \end{pmatrix} \quad \mathcal{N}_{2} \geq \begin{pmatrix} 1 \\ 1 \end{pmatrix}$ Fundamental 801's: $Y_{1}(t) = e^{-t} \begin{pmatrix} -1 \\ 1 \end{pmatrix} = \begin{pmatrix} -t \\ -t \end{pmatrix} \begin{pmatrix} -t \\ -t \end{pmatrix}$ $Y_{z}(F) \sim e^{3F}\begin{pmatrix} 1 \\ 1 \end{pmatrix} \sim \begin{pmatrix} e^{3F} \\ e^{3F} \end{pmatrix}$

Fundamental matrix: $\begin{pmatrix} -e & e^{5t} \\ -e & e^{3t} \\ e^{-t} & e^{3t} \end{pmatrix} = \tilde{\gamma}_{f}$ $Y_{f}^{''} = -\frac{1}{2e^{2f}} \left(\begin{array}{c} e^{3f} - e^{3f} \\ -e^{-f} \end{array} \right) \left(\begin{array}{c} e^{-f} \\ -e^{-f} \end{array} \right) \left(\begin{array}{c} e^{-f} \\ e^{-f} \end{array} \right) \left(\left(\begin{array}{c} e^{-f} \\ e^{-f} \end{array} \right) \left(\left(\begin{array}{c} e^{-f} \end{array} \right) \left(\left(\begin{array}$

 $= \begin{pmatrix} -e^{t} | 2 \\ e^{-3t} | 2 \\ e^{-3t} | 2 \\ e^{-3t} | 2 \end{pmatrix}$ $Y_{f} \cdot F = \begin{pmatrix} -e^{t} | 2 \\ e^{-3t} | 2 \\ e$ $= \begin{pmatrix} -1/2 \\ -4t/2 \end{pmatrix} \equiv \vee'$

 $\Rightarrow \sqrt{2} = \left(\begin{array}{c} -\frac{1}{2} \\ e^{-4t} \\ 2 \end{array} \right) dt$

 $V = \begin{pmatrix} -t|z\\ -4t/8 \end{pmatrix}$



Some Remarks.

How can you Sobe a hom. System where Coeff. Matrix

is not coustant? $\chi' = A(f) \chi$ Can Still use matrix exporential! If $B(t) = \int A(t) dt$ then $d \in B(H) = B'(H) \in B(H)$ $d \in B'(H) \in B(H) = B'(H) \in B(H)$ $A(H) \in B(H)$

So e ma Soluto

 $\gamma' = A(t)\gamma$. If A(t)is dragphalizable, Can use the methol, from yesterday to easily Compute e BIFI. $E_{X}: \quad Y' = A(t) Y$ $A(t) = \begin{pmatrix} 1 & -\cos(t) \\ \cos(t) & 1 \end{pmatrix}$ $B(t) = \begin{pmatrix} t & -S(n(t)) \\ S(n(t)) & t \end{pmatrix}$

 $P_{B}(X) = \chi^{2} - 2f\chi + (t^{2} + Sin^{2}(f))$

Eigenvalus: $\lambda = t \le i \sin(t)$

Eigenvectors: $V_1 = \begin{pmatrix} i \\ i \end{pmatrix}$ $V_2 = \begin{pmatrix} zi \\ l \end{pmatrix}$ $B = \left(\begin{array}{c} i & -i \end{array} \right) \left(\begin{array}{c} trism(t) & 0 \end{array} \right) \left(\begin{array}{c} 1 \\ 1 \\ 2 \end{array} \right) \left(\begin{array}{c} trism(t) \\ 0 \end{array} \right) \left(\begin{array}{c} 1 \\ 1 \\ 2 \end{array} \right) \left(\begin{array}{c} 1 \end{array} \right) \left(\begin{array}{c} 1 \\ 2 \end{array} \right) \left(\begin{array}{c} 1 \end{array} \right) \left(\begin{array}{c} 1 \\ 2 \end{array} \right) \left(\begin{array}{c} 1 \end{array} \right) \left(\begin{array}{c} 1$ $e^{\beta(t)} = \begin{pmatrix} i & -i \\ i & -i \end{pmatrix} \begin{pmatrix} e & t - i \\ e & t - i \\ 0 & e \end{pmatrix} \begin{pmatrix} y - y \\ z & y \end{pmatrix}$ If you do all the

relevant Simplifica tions,

you get = S(~ (S ~ (+1)) $e^{\beta(t)} = e^{t} \left(Cos(Iin(t)) \\ Sin(sin(t)) \right)$ cos(sig(t))

This technique is actually a general way of Solving

 $y'' + a_1(t)y = - t a_n(t)y = 0$

Convert to System, use

matrix exponential, recom fist component of Sol

to get y(t).

Remark Z: Blc Variation of parameter works for System, works for ang ODE. Let's see how it works for 3° order 00E. $y'' + a_{i}y'' + a_{i}y' + a_{3}y = f(f)$

 $\begin{cases} y' = v \\ y' = w \end{cases}$

 $\int w \in \mathcal{A}_1 \mathcal{W} - \mathcal{A}_2 \mathcal{V} - \mathcal{A}_3 \mathcal{Y}$ $Y' = \begin{pmatrix} 0 & 1 & 0 \\ 0 & 0 & 1 \\ -\alpha_3 & -\alpha_2 & -\alpha_1 \end{pmatrix} \begin{pmatrix} y \\ v \\ w \end{pmatrix} + \begin{pmatrix} f(t) \\ 0 \\ 0 \end{pmatrix}$

Suppose juijz, jz ane findamental to homogeneous

01É.



 $Y_{f}' = \frac{1}{det}(Y_{f}) Adj(Y_{f})$ = $\frac{1}{M} Adj(Y_{f})$. M

 $Adj(Y_f) = \begin{pmatrix} C_{11} & C_{21} & C_{31} \\ C_{12} & C_{22} & C_{32} \\ C_{13} & C_{23} & C_{33} \end{pmatrix}$

 $V = \int \begin{pmatrix} C_{1} & C_{2} & C_{3} \\ C_{12} & C_{23} & C_{32} \end{pmatrix} \begin{pmatrix} f(t) \\ 0 \\ 0 \end{pmatrix}$ $\bigcup \begin{pmatrix} C_{12} & C_{23} & C_{32} \\ C_{13} & C_{13} & C_{33} \end{pmatrix} \begin{pmatrix} 0 \\ 0 \end{pmatrix}$

 $\frac{1}{\omega} \begin{pmatrix} f(t) C_{11} \\ f(t) C_{12} \\ f(t) C_{13} \end{pmatrix}$

√ [−]

 $\begin{pmatrix} y_1 & y_2 & y_3 \\ y_1' & y_2' & y_3' \\ y_1' & y_2'' & y_3' \end{pmatrix}$ **(**6 YE $C_{11} \times \int \mathcal{Y}_{2}^{1} \mathcal{Y}_{3}^{1}$ Note that e.g.

 $W_{i} = C_{1i}$, S> $V = \frac{1}{\omega_2} \left(\begin{array}{c} \omega_1 & f(f) \\ \omega_2 & f(f) \\ \omega_3 & f(f) \end{array} \right)$ $= V = \int \left(\begin{array}{c} \omega_{1} f(t) \\ \omega_{2} f(t) \\ \omega_{2} f(t) \\ \omega_{3} f(t) \\ \omega_{5} f(t) \\$

Xp = Vf.V $= y_1 \left(\frac{\omega_1}{\omega}, f(t) dt \right)$ Jz [Wzf[Mdt rys]wordt.